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General Instructions :

Read the following instructions carefully and follow them :

(1)
(i1)
(iii)

(iv)

(v)

(vi)

This question paper contains 37 questions. All questions are compulsory.
Question paper is divided into SIX sections — Section A, B, C, D, E and F.

Section A - Question numbers 1 to 20 are Multiple Choice type

questions. Each question carries 1 mark.

Section B — Question numbers 21 to 24 are Very Short Answer type
questions. Each question carries 2 marks. Answer to these questions

should not exceed 40 words.

Section C - Question numbers 25 to 29 are Short Answer type questions.
Each question carries 3 marks. Answer to these questions should not

exceed 60 words.

Section D — Question numbers 30 to 33 are Long Answer type questions.
Each question carries § marks. Answer to these questions should not

exceed 120 words.

(vii) Section E — Question numbers 34 to 36 are Case-based/Source-based

questions with three sub-questions. Each question carries 4 marks.

(viii) Section F — Question number 37 is Map Skill based question with two

(ix)

parts — 37(a) from History (2 marks) and 37(b) Geography (3 marks). This

question carries total 5§ marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired Candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired
Candidates only.
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T UE - % (20 x 1 = 20)
CREETIDRTE)
1. fmafafiea 8 & ®F-31 5% <1 § g1 1 SR Kl § 3T K0 Joreht &) b s ¢ 1
(A) U A¥ES Sh
(B) sfemsw
(C) R feid s
(D) T2 S AT e

2. Trafefea d @ form smam w e, fadftres 3t gt &= Sl siar g ¢ 1
(A) TSR 3l Tepfd
(B) Tiafafert i wehfa
(C) AT shi i
(D) 3T 1 SRRl

3. Teuu = & o w1 ufew | few Tu foehedi 1 © =i TR <1 qg= shifoT : 1

(A) 362255
(B) 110002078
(C) 000313
(D) 16137926023
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SECTION - A

(Multiple Choice Questions) (20 x 1 =20)
1.  Which one of the following banks in India controls the issuance of
currency and regulates the credit system in the country ? 1

(A) Punjab National Bank
(B) Indian Bank

(C) Reserve Bank of India
(D) State Bank of India

2. Primary, Secondary and Tertiary sectors are divided in which one of the
following basis ? 1

(A) Nature of employment
(B) Nature of activities
(C) Nature of ownership

(D) Nature of income

3. Read the image of the cheque. Identify the cheque number from the given

options : 1
(A) 362255

(B) 110002078

(C) 000313

(D) 16137926023
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5.

6.

FrefoRaa wom e gftaTiRm whafit & foe s e 3 P w R
freferRaa 3 @ = a1 9ra 3 o o1 Su=TieE Fa R 7

Q) fim

(B) WEHR

(C)

(D) frder

1 €t 7€ aTfetert b1 STYE e HIT 3T 3Tk i few woa w1 3w i |

| THA U A (WA WaSw | fova # ava fasem gaeth
SMTEh SeR H (2011 377 WifeT &) | (HDI) 1 36T (2018)
A 12,707 73
B 6,681 130
C 4,961 148
D 5,005 154
E 3,457 143
F 4,976 134
frferfiad < 4 @ foreeht forea © A4 foreh™ FErehieh o1 shHTeh Ta 31T 3§ 7
A) WA B w@C
C) WD (D) T E

FfcTRaa § & @nedr g o foTq s —H1 qitdTsT Haloger 7 ?
(A) Iy T I HTER e

(B) &Td a9 3R 358 31f¥eh & AN T HIeR SHEET 1 U
(C) T &7 § Whel S Il =l ohl ol F&

(D) T & H WRall hi 3d G&1

frfetfad & & -1 SveliehtoT 1 Uk Hewyyl Uae] & ?
(&) wHH FEHf

(B) UHTaRor TueH

(C) =] ISR 31 0

(D) T STSIR e g
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The following question is for Visually Impaired Candidates only in
lieu of Q. No. 3 :

Which of the following is the formal source of loan in India ? 1
(A) Friends

(B) Money-lenders

(C) Banks

(D) Relatives

4.  Study the table given below carefully and answer the question that follows. 1

Country | Gross National Income (GNI) | HDI Rank in the
per capita (2011 PPP $) world (2018)
A 12,707 73
B 6,681 130
C 4,961 148
D 5,005 154
E 3,457 143
F 4,976 134

Which of the following country has high Human Development Index Rank
in the world ?

(A) Country ‘A’ (B) Country ‘C’

(C) Country ‘D’ (D) Country ‘E’

5.  Which one of the following definitions is most suitable for the ‘Literacy
Rate’ ? 1
(A) The literate population at the global level
(B) The proportion of literate population in the seven years and above
(C) The total number of children attending school in a region

(D) The average number of schools in a region

6. Which one of the following is a significant aspect of globalisation ? 1
(A) Uniform Culture
(B) Environmental Support
(C) Support to Domestic Market
(D) Access to New Markets
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7. g AR T & i faarg) = gorem & foe Frefeftaa 3@ @ & fonier 2 2
(A) IR T S

(B) W o1 A= =TT

(C) W =1 Ugufd
(D) WRd T T

8. ohad o HeH H FferRad sl i ufeu 3k @&l s 1 w=m hifST |
I. TRl § SHEAT AT
II. S A gRI TR SHHT
III. WHE TR T T HHT
IV. 701 3R dqem Saen s
forepen :
(A) 1,113 III
(B) IL III3WIV
(C) I, II3RIV

D) I 13RIV

9. Ui g1 SHaT % fd TaTecE! S8 gifead i § ¢ ffafed & @ g8 sugw
ferehed T =3 <hIfST |
(A) UE HISHT S HIEH T
(B) W Hifen gfgw o mem &
(C) YeITeTa o HTeH &
(D) TAE 3R GACTAIAT o THH o 1T &
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7. Which of the following is responsible for resolving disputes between
Centre and States ? 1

(A) Finance Commission of India
(B) Supreme Court of India
(C) President of India

(D) Prime Minister of India

8. Read the following statements regarding democracy and choose the

correct option. 1
I.  Promotes equality among citizens

II. Government by few individuals

III. Protection of human rights

IV. Ensures checks and balance system

Options:

(A) I,II and IIIT

(B) IIL III and IV

(C) I, IITandIV

(D) I, II and IV

9. How do Political Parties ensure accountability to the public ? Choose the

most suitable option from the following. 1
(A) Through Press Conferences

(B) Through Social Media Campaigns

(C) Through encouraging Partisanship

(D) Through Elections and Voter Support
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10. f=ferfiga sweFl o & o -a1 afgar auifederion &1 ged IngE auH 8 ?
(A) &I I T hl YHERT TEH o TeTT FTcTTd T |
(B) &SI WX AfEATSAT Shl ST bl SgTeT &7 |
(C) Hfgenani o foIw Tum sfeer 3R tfsR ghfvad & |
(D) @ft & | geui o SATeRR Sl it T |

11. &9-1 1 firem qu-11 9 hifsre 3t fefafga 8 9 9 faereq w1 ==m hifse

w1 wy - 11
(Wi wferem o Tt <hi g=h) (fors)
I w9 a.  SEYHEA
I TsEg b.  dfdm
I gwa gt c. Yl
IV. == g fawi &6 = d. TR
faeney :
I II 111 1\Y
(A) d a c b
(B) b c a d
C) a b d c
D) ¢ d b a

12. Tfafga SHeiEt =1 afeu 3R wEa 6 vgwm HifvT |

o ITYNA H IFTRIH AN hl TG W Hae ¢ |

o WA 3E HEel 1 THU TS T IUTEHh S B |

e WHEIEFHIAR |

o 30 31Rep 3T 3 WY 100 et aTfifen ot Y srrarvERaT Bt B |

By :
(A) i
(B) s

C) g

(D) =mEd
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10. Which one of the following statements, best describes women empowerment ? 1
(A) Encouraging men to take leadership roles.
(B) Promoting superiority of women over men.
(C) Ensuring equal opportunities and rights for women.

(D) Limiting the rights of men in all spheres.

11. Match Column-I with Column-II and choose the correct option from the

following : 1
Column-I Column-II
(Subject List in the Indian Constitution) (Subject)
L. Union List a Trade Union
II. State List b. Banking
III. Concurrent List C. Police
IV. Residuary List d. Internet
Options:
I II I1I 1A%
(A) d a c b
(B) b c a d
©) a b d c
(D) c d b a
12. Read the following informations and identify the crop. 1

o It is the staple food crop of majority of people in India.
o India is the second largest producer of this crop.
o It 1s a Kharif crop.

o It requires high humidity with 100 cm of annual rainfall.

Crops:

(A) Ragi
(B) Bajra
(C) Wheat
(D) Rice
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13. Tafcfea # 9 SF-4 f=s yoned Jare@ 6 g ?
(A) It STETA o rad § qfty Y f=ms & |
(B) fémé o fore ot wmam & art b1 SunT e |
(C) it @ urht freprem |
(D) g fgu =g yomreft w1 3T 6T |

14, YA TR HATGeH ¥ gafda ffoifad aeisti o1 SiershaHar Sraferd hifse it
TE forehed 1 = IR |

| RS R A RIS
II. WA TSR i ol ATRR AT

III.  wieh-gfda wwgiar

IV. <fira ol wafiesH st et

e

(A) IL III, IR IV B) I, II IV 3RIII
(C) I, IIL II 3R IV (D) IV, IIL II AR I

15. Qe WRd § 39S Sitg 9 s femadi | et |
SHh theTTd o TITeTRE HROT bl afgu 3TN @l forehed <1 == <hifST |
[. @Rl JEH-JEH % SR
IL. s =0l o
IT. SR 3T GHITAL o SR

IV. JUUETTE o S8 o R0l

ﬁw:
(A) Haa [, I[NNIV I T | (B) whad I, III 3R IVHE B |
(C) Haa L IIINIMNTE 2 | (D) HaA L IIIWIVHS S |
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13. Which one of the following is the irrigation system in Meghalaya ? 1
(A) Toirrigate land only during rainy season.
(B) To use large volumes of water for irrigation.
(C) Toremove water from soil.

(D) To use bamboo drip irrigation system.

14. Arrange the following events of Indian National Movement in
chronological order and choose the correct option. 1
I.  Formation of Swaraj Party
II. Lahore Session of the Indian National Congress

III. Gandhi-Irwin Pact

IV. Formation of Depressed Class Association

Options:
A) ILII, Iand IV (B) I IIL IV and III
(C) LI II and IV (D) IV, I IIand I
15. ‘Buddhism emerged from eastern India and spread in several directions.’ 1

Read the following reasons for its spread and choose the correct option.

I.  Due to Cultural exchange

II.  Due to Silk route

ITI. Due to trade & travellers

IV. Due to European efforts

Options:

(A) Only I, IT and IV are correct. (B) Only II, III and IV are correct.
(C) Only I, IT and IIT are correct. (D) Only I, III and IV are correct.

32/3/2/22/AABB1 Page 13 of 32 P.T.O.




16. fmfafiga § @ S-91 T Yg@ Tehas 3 ot uam fereft o1 @ foepa &1 umoe &
forQ fepan wman @ 7

(A)  wTfieh e (B) Tedioe Ieareq

(C) Hehel BT 3cUTG (D) G T 3G

17. Tmafafga foemcdt @ 9 sfcoam 0 a1 gl g & grufies 3eed <hl ug=aH
HIfST |

(A) TSR 1 ThicHeh Y TATYT HET |

(B) TN I hraiehd TSI =0 |
(C) T h HIEH(eh IR ATETh ATHAT b1 TATHT |
(D) WS 3R &Ef fadi o1 gt e |

18. dra e %uw few mu § | I 31fihed (A) 3T R0 (R) & | ST T ol Ui 3T I
foTu 92t farehed o1 =2 HIfTT

ANHYT (A) : T I IEA T Teh Yoo T TAcTorg- TTiua febam 7T |

R (R) : 98 Thishd 3T & o goid ohl 1a off STal a&qaii, TR 3R YSf &1 SarmH
SRR 8l |

Torehed

(A) (A) 3T (R) GFT 9l § 37 (R), (A) 1 et e 2 |

(B) (A) 31 (R) M1 w2l & wifeh (R), (A) ol T ame T 2 |
(C) (A) Tt g, g (R) T 2 |

(D) (A) oA §, g (R) T 7 |
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16. Which of the following is a key indicator used to measure a country’s

development ? 1
(A) Primary Production (B) Secondary Production
(C) Gross Domestic Product (D) Net Domestic Product

17. Identify the primary objective of power sharing arrangements in Belgium

from the following options. 1
(A) Establishing a unitary form of government.

(B) Centralized political control of government.

(C) Establishing cultural and educational matters of Dutch.

(D) Accommodating linguistic and regional interest.

18. Two statements are given below. They are Assertion (A) and Reason (R).

Read both statements and choose the correct option : 1
Assertion (A) : On Prussian initiative “Zolleverin’ Custom Union was formed.

Reason (R) : It was to create unified economic territory allowing the

unhindered movement of goods, people and capital.

Options:

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is wrong.

(D) (A) is wrong, but (R) is true.
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19. &9-1 %1 e w99-11 9§ Hifsre 37t g8 faehes 1 == hifsm |

W -1 wWy - 11
(arg) (EHE))
1. IR a. HIFAT

II. 37g b.  TATEL

II1.  3refcsh c.  digETEe

IV. et d. ®Ewee
forepem

I I I IV
A b d c a
B) d c b a
C) a b d c
D) ¢ d b a

20. f=fefga @ 9 ‘garg SHE 1 yehrM fohar o 7
(&) el ot
(B) awrss f3iq
(C) ST THATET T
(D) =g
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19. Match Column-I with Column-II and choose the correct option.

Column-I Column-II
(Minerals) (Examples)
L Ferrous a. Coal
II.  Non-Ferrous b.  Granite

III. Non-Metallic c. Bauxite

IV. Energy d. Cobalt
Options:
I II 11 v
A b d c a
(B) d c b a
(©) a b d c
(D) c d b a

20. Who among the following published ‘Samvad Kaumudi’ ?
(A) Rashsundari Debi
(B) Tarabai Shinde
(C) Raja Rammohan Roy

(D) Ram Chaddha
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21.

22.

23.

24.

25.

26.

g -g (4x2=8)

(AT Y- =)

“SITIR 3R AR STEH-TEH, HI TTRATE FTY-T1Y Feid! & |7 39 HH hi S
3YfTeh TeT o TEH o 7T TeH § hIRTT |

TR 1 TSHITT H Afgenati i yfirent di-oR 5 W 2 | 39 HeF &l W@ HifT |

(a) I Frefiertor o g sl gel S % o0 1S &1 alie! 1 oSy |
JAYAT
(b) HETEAT % TEET o foTu foheell g1 aiehi o1 g €T |

T Y fohr Hrishd (F,0H.21.H.) 1 foepre Avcs fova e @ fopd TR 31em 3 ?
g HifT |

@ og -7 (5 x 3=15)
(T3’ 99)

“TrT SNkl 3 goiegies SEIT % Weeaqul YWTe s HIOT A hi ferehrd ishan &
TREAE 3T 8 |7 39 U <l 3TN dfed T8 T |

(a) STH o weheRtuT Shi sk ot ferwersor Shifs |
e

(b) AT o ThHIHUT hl Ufshar =kt fagaiwur SHifv |
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21.

22.

23.

24.

25.

26.

SECTION-B (4 x 2=28)
(Very Short Answer Type Questions)

“Trade and Cultural exchange always went hand in hand.” Explain the
statement in the context of pre-modern world. 2
“Role of women is gradually enhancing in the politics of the country.”
Examine the statement. 2
(a) Suggest any two ways to solve the problem of land degradation. 2
OR
(b) Suggest any two ways for the conservation of resources. 2
How does the United Nations Development Program’s (UNDP’s)

developmental criterion differ from the World Bank ? Explain. 2

SECTION - C (5x3=15)
(Short Answer Type Questions)

“The development process of India has experienced transformation due to

the significant influence of Information Technology (I.T.) and Electronic

Industry.” Explain the statement with examples. 3

(a) Analyse the process of German Unification. 3
OR

(b) Analyse the process of Italian Unification. 3
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27. TSIk getl o AT 3TH aTeft foheal i gferIt o1 aoi <hif |

28. |EAT 3R A0 o TR KT ¢ b forehrd o foru 3ifa smmawess w7 7 wm il |

29. <1 ToehT® H qaTeh &7 ohl YfHehT ol T0 IV |

T e - (4 x 5 =20)
(-39t v9)

30. (a) “3Au foTu UM Ut S i cAlehds shi &THaT Y Siiehad b1 Ueh TROTH & & 3T
3! IFCET Tl bl ST Tehell |” 38 HYUF h ST HIT |

AT

(b) “TAThdifIeh STGAT TSHIfdeh THFAT W TR &It 8 |7 39 e shl e
I |

31. (a) aiTiSueh SV A1 forRmarsti i =me ST |
JAYAT
(b) SRI¥e Shifeshl et S Al forRiwarati i =me ST |

32. (a) “UEl 95 AR GRplae AisRATY off, R G WA TgaTg @R ohl Sheddl 3R
feet-fermm W =171 |7 39 %eH il Ieewn gfgd S ity |

OB

(b) @i IET ST § U o i g fopd wohR wfret & 7 Ierexvn afea

T IV |
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27.

28.

29.

30.

31.

32.
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Describe any three challenges faced by the Political Parties.

Why 1is cheap and affordable credit important for the country’s

development ? Explain.

Examine the role of Tertiary sector in the development of the country.

(a)

(b)

(a)

(b)

(a)

(b)

SECTION -D (4 x5=20)

(Long Answer Type Questions)

“Democracy’s ability to generate its own support is also its outcome

and it cannot be ignored.” Explain the statement.
OR

“Democratic systems are based on political equality.” Explain the

statement.

Explain the features of Commercial Farming.
OR

Explain the features of Primitive Subsistence Farming.

“There were variety of cultural processes through which Indian
Nationalism captured people’s imagination.” Explain the statement

with examples.
OR

How were the wvarious social groups involved in the Civil

Disobedience Movement ? Explain with examples.




33. (a) dvETHUT T ICRATE h Yftreht 1 forveryor Hifsr |

AT

(b) STt <t TfshaT 1 T=Td i o feTu fohegi uie shien! sl i@ shifsu |

e - (3x4=12)

(- 3TETRE %)
34. Trefafaa wia o ufeu 3i 3ue Fi=9 fou 7 yw=t o1 3w fofae :
TR TS

“FTeAT el % FUAT ! TR B IR oA Fiae™ Ftarstt St 3=fig @
A & 7T 3 IRl 1 SARGRR ¢ hl S 2 | TaRIdt U & aTafesh siehad sl
TYTOHT LT & | T8 T 37 AR o gredt o wigar 8 Fes gredt & 3@ 2 =ifae | weem
H H IR TGS AT Bl T T Th IUT Yl bl SATBHR 1 o 8 | S
Tersprar At AISHTAT T §HM IR AR, HT H AN ht HEAGRY Bf A 7 FISHISTT TR ST
T S | 3HE W Terifersi S @ Tohe ST TR | 39 YR U=IRIdT TSt Sl shi
e <! ATeg oM |7

(34.1) U= < ST AT HETCHT el <6 SehIor & ohy Hrafrd § 7
(34.2) TETICT bl Ve & o AT 32T ! TIE HIFTT |
(34.3) =T TS oh) TATG] SAlehaa § h8 ANTEH Sl @ 7 8 shifdy |

35. Tmfaiad &id =1 ufeu 3R 3ues = feu 7w v o 3 fefian
JAETRHT ?

QAT % HOIS e e TSt F T J@ER e 9mgd |, fred s
Teaaedt Y T STt @ali 1 T8 e 9 | 6% grasie SUIREr, I9Th
=N & IrATar e -foEn, aifewsht, Ngmansh, dw & fafv= faeat & ar °
AR W, HR TFhA T AR TR AHHIET 1., TH THE AR | Aeg (R
T T faeT B, it T & THR AR e & 355 & |

Fita 2AITE T FINI, 6 T, 1849
32/3/2/22/AABB1 Page 22 of 32




33. (a) Analyse the role of Liberalisation in the globalisation. 5

OR
(b) Examine five factors to promote the process of globalisation. 5
SECTION - E Bx4=12)
(Case Based Questions)
34. Read the following source and answer the questions that follow : 4

Panchayati Raj

“We need to give more power to the panchayats to realise the
dream of Mahatma Gandhi and the hopes of the makers of our
Constitution, Panchayati Raj establishes true democracy. It
restores power to the only place where power belongs in a
democracy - in the hands of the people. Giving power to
Panchayats is also a way to reduce corruption and increase
administrative efficiency. When people participate in the
planning and implementation of developmental schemes, they
would naturally exercise greater control over these schemes. This
would eliminate the corrupt middlemen. Thus, Panchayati Raj
will strengthen the foundations of our democracy.”
(34.1) How does giving power to Panchayats relate to the vision of

Mahatma Gandhi ? 1

(34.2) Explain the primary objective of giving power to the Panchayats. 1
(34.3) How does the establishment of Panchayati Raj contribute to

democracy ? Explain. 2

35. Read the following source and answer the questions that follow : 4

Why Newspapers ?

‘Krishnaji Trimbuck Ranade inhabitant of Poona intends to
publish a Newspaper in the Marathi Language with a view of
affording useful information on every topic of local interest. It
will be open for free discussion on subjects of general utility,
scientific investigation and the speculations connected with the
antiquities, statistics, curiosities, history and geography of the
country and of the Deccan especially... the patronage and support
of all interested in the diffusion of knowledge and welfare of the
people is earnestly solicited.’

Bombay Telegraph and Courier, 6 January, 1849
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36.

U AR AR TS wwistt it T e B ], St s & wRw AW

w4 ¥ fauer K gt 2 | I b o7 greert Aifaet hY SreieHTens geia +5T,

T & foq wrem 7 ram fa i fepTel S U AR, qUT ITH! A5 @ AT HA

HTHME R |

3 GHIAT I =TT T 3 Q¥ % @E gl T AHT T i FIATE AT L JA =T

9T AN F1T5d GUR 3, 98 T, 37 HTE1 T BT 4L g I

T nfafa, 3 3%, 1870

(35.1) HUST WV & IWGER YT hid o [T TUMS gRT SEdTferd TTefieh 3e9d i
fergeror ifsa |

(35.2) STl CETUTH + GFR &1 o SIhcATUl ] ST ¢ H ITEER hl YiehT T Fi
R e 2

(35.3) <t EHFER-TE1 o shiH- e et gid 7 7 fori € o1 Seoi@ IR |

fareforitad €ia w1 afen 3R 35 = feu 7w g o 3o feifia

afers Ui < guge-faferg 3tk geiw st <t waf
Yo sl YT FCAT GUAT SHT T fovam &, Rt Smar swhia % & &9 61 &1 FE
2 | 32 fovamai 7 faft= o B 9@ wa smE v § s=e e g, [ ufem vet %
FOC (SAt—Caarat & o) HEd @ | o1 o 31 HET | 91 ol ST o UH 9 WIT H SAHI™T
T & e a7 & forelt ST B SEsTe FA A |

O T FO R ISt I IS A § SN INfEHT F IR TREHT B I @ § |
BIRATTR & T Y1 3R TU1er SHefoat agat 3t wea % ¥ei 6 o+t § | 3ffem
3 forgr <6t Seferat wmd) 6 g el SR M S IS A T et § | g S sga A
=fert fuet ST Fege i gfas T # |

WA TS H 3Tehi TEepierdl & IR Jedh TEhd H Wepfal SR THeh! Pfael i T
FH H A IS T § | AR T T, T =ifedt, Ih o wggedt =i ufam
A ST TR FoRaT ST B | 3T 3 HiGl o I -9T8 6 3R TR I | IUTeh
3% faerma-fiema & 3t wfer & ot & fiFd 8 | aoeum # fagig il % sra-ue o1
et e, T, e TR AR < g <@ Wehd & Sl 9@1 oh HYGH o AN fFen §
3TN RIS ST A &l TgaTaT |
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‘The task of the native newspapers and political associations is
identical to the role of the Opposition in the House of Commons in
Parliament in England. That is of critically examining
government policy to suggest improvements, by removing those
parts that will not be to the benefit of the people, and also by
ensuring speedy implementation.

These associations ought to carefully study the particular issues,
gather diverse relevant information on the nation as well as on
what are the possible and desirable improvements, and this will
surely earn it considerable influence.’

Native Opinion, 3 April, 1870

(35.1) Analyse the primary objective proposed by Ranade for publishing

Marathi Language newspaper. 1
(35.2) Why did the Bombay Telegraph emphasize the role of newspaper
in promoting welfare of Deccan region ? 1
(35.3) What were the key responsibilities attributed to native
newspapers ? Mention any two. 2
36. Read the following source and answer the questions that follow : 4

Sacred Groves — A wealth of diverse and rare species

Nature worship is an age old tribal belief based on the premise that
all creations of nature have to be protected. Such beliefs have
preserved several virgin forests in pristine form called Sacred
Groves (the forests of God and Goddesses). These patches of forest
or parts of large forests have been left untouched by the local
people and any interference with them is banned.

Certain societies revere a particular tree which they have
preserved from time immemorial. The Mundas and the Santhal of
Chota Nagpur region worship mahua (Bassia latifolia) and
kadamba (Anthocaphalus cadamba) trees, and the tribals of
Odisha and Bihar worship the tamarind (Tamarindus indica) and
mango (mangifera indica) trees during weddings. To many of us,
peepal and banyan trees are considered sacred.

Indian society comprises several cultures, each with its own set of
traditional methods of conserving nature and its creations.
Sacred qualities are often ascribed to springs, mountain peaks,
plants and animals which are closely protected. You will find
troops of macaques and langurs around many temples. They are
fed daily and treated as a part of temple devotees. In and around
Bishnoi villages in Rajasthan, herds of blackbuck, (chinkara),
nilgai and peacocks can be seen as an integral part of the
community and nobody harms them.
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(36.1) dfcr Ui o UL, STehid shi T 3hi HI=IAT & HH TEfd & ? 1

(36.2) THGH, USi %I 70T TR H fohel TehR SMHA hid & 7 ITeT Agd a9emse | 1

(36.3) 3 HiEhicieh eal shl AT SHITTT S Tehfel oh Tg-eed § ANTeH o § | 2
Qug - (2+3=5)
(wfes i )

37. (a) Teu U wRd % UoFifte WET-amiE W wH (A) 31 (B) % &9 § €t U § |
frafafga Sl <t TR 8 3= dg=nT 3R 3% T8l A 3 gHig Wik 18

i’@T?:ﬁtl'{f\Fl'f\@Q: 2x1=2
() o8 T STEf AfAATTeT ST ht T =fed 55 | 1
(i) % T STET YA TP HI T MM 1927 H 53T | 1

(b) WA % 3T ToHIfah W@T-art W ffafaa § @ f= & =1 suge gl @

quITEd 3R 37k 7 forfam 3x1=3
(i) ST AT — Sy 1
(i) TIUET — RS TENTTehl UTeh 1
(iii) RIYX — ETY] Snoll T 1
(iv) ®foean —aggl o= 1
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37.

(36.1) How does sacred groves relate to the belief in nature worship ? 1

(36.2) How do communities incorporate trees into their cultural practices ?

Explain with example. 1
(36.3) Explain the cultural values that contribute to the coexistence of nature. 2
SECTION - F (2+3=5)

(a)

(b)

(Map Based Questions)

Two places (A) and (B) have been marked on the given political
outline map of India. Identify them with the help of the following
information and write their correct names on the lines drawn near

them : 2x1=2
(1) The place where Jallianwala Bagh Massacre took place. 1

(11) The place where the session of Indian National Congress was

held in 1927. 1

On the same political outline map of India, locate and label any

three of the following with suitable symbols : 3x1=3
(1) Bhakra Nangal — Dam 1
(i1) Noida — Software Technology Park 1
(i11) Tarapur — Nuclear Power Plant 1
(iv) Haldia — Sea Port 1
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e ; FrfcRaa w1 sew gfvatea wheliE & foe wwm @@ 37 S m W E | 5x1=5
fopgii uie el o Sor forfa |

(37.1) 3T UST 1 W TARGT & ST TaTedt 1T shi T2 89l | 1
(37.2) 3 TIM 1 A TARGT &1 WA T SR 1 SATLEIH 1927 H 53T | 1
(37.3) 38 U= 1 9 forfgu &t wrae-mme sty fea 2 | 1
(37.4) 39 T 1 AT FIRae STeT qTge TTy] S5l & fea 2 | 1
(37.5) ITST AiFeaRR MeNfireh! uteh for T 4 fa 8 7 1
(37.6) 3| TsT 1 T TR wr=t gl aqg veq fa 2 | 1
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Note: The following questions are for Visually Impaired Candidates

only in lieu of Q. No. 37. 5x1=5
Attempt any five questions.
(37.1) Name the state where Jallianwala Bagh incident took place. 1

(37.2) Name the place where the Indian National Congress Session was

held in 1927. 1
(37.3) Name the state where Bhakra Nangal dam is located. 1
(37.4) Name the state where Tarapur Nuclear Power Plant is located. 1
(37.5) In which state is the Noida Software Technology Park located ? 1
(37.6) Name the state where Haldia Sea Port is located. 1
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